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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 e } 3 B
3% F T F A e e B # R W A Question ID : 9864493969

QR
Status : Marked For Review
Chosen Option : 1

e g & 7 X {4+ (=2) X (=3)} =7 Question ID : 9864492699
Solve the following 7 X {4 + (—2) x (=3)} =7 Stafus :Answered
Chosen Option : 4
Ans X 1.14
X2 42
X314
v 4. 70
Q3

Question ID : 9864492586
Status : Answered
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T 62,500 T 21% Hr AM¥er T & 1 a9 & forw Tl sar=r #r gem Chosen Option : 2
Find the compound interest on ¥ 62500 at 21% per annum for 1 % years.
Ans 1. F 20,695
X 2. ¥19,687.5
v 2 20,6875
X 4 T 21,638.5
U FE 9T T H gy 30 gare aEE Question ID : 9864492118
Which Indian State has the most number of airports? Status : Marked For Review
a*

V2>

Gujarat

X3 i
Maharashtra

< 4 iE:E A
Delhi

Q.5 faar RICLICLUIE Tfga
:I?Ha’éi W TR A s A Question ID : 9864493645

Status : Marked For Review
Chosen Option : 1

A Chosen Option : 3
ns -
x1_qfa‘=ma?nar
U GellS3ay 1 AT 2200 S0 90 F1 9 §werg & gy far o g

West Bengal
QIS EIGE

R ofY oer TremS3NaY & 39T AiET W 1§ B

U

1. weliS3lay I AT 3R 31
2. gems3iat & Teior ) @ Grar an we, S iR Fe 990 8 @ R
ticilpmi erasi snoitpmussa nevig eht fo heihw ediced dna tnemugra eht redisnoC

tnemugrA

ton era elpoep tey ,serorc 200 ¥ fo tsoc gnippohw a htiw deteurtsnoc neeb sah revoylf A
‘heum revoylf eht gnisilitu

noitpmussA

1. .sselesu s1 revoylf eht fo notteurtsnoC
2. .detsaw saw revoylf eht fo noitcurtsnoc eht no tneps ygrene dna yenom ,emit ehT

Ans - 13 2 3 Afga 2
 ticilpmi era 2 dna 1 htoB

, ool qauron 1 f&fgd g
tietlpmi s1 1 nottpmussa ylnO

., shael qauRen 2 [T g
tieilpmi s1 2 noitpmussa ylnO

A a1 s & 2 @fea f

tietlpmi s1 2 ron 1 rehtieN

x

x

v

.6 i
Q6 DafRfET A ¥ Fia arFEa #r o agi 22 it T | CREY GEA A

‘Which of the following is NOT the combined form of carbon? Status : Marked For Review
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Ans Chosen Option : 1
v B l J
Diamond
X2 E
Dolomite
K 3. HITHIAT
Marble
x 4 =Teh
Chalk
a7 A ﬁt’ v = A ﬁ'ﬂﬁ ﬁﬂ\_ﬁ %" Question 1D : 9864493742

Status : Marked For Review
Chosen Option : 2

How many triangles are present in the below figure?

ans X115
V214
X312
X413

Q.8 fafafaT s (Tereaits) w0 #, wea Reg(?) g g =

- Question ID : 9864494297
HTAN, TF 3BT ey ¢ B v feed & & seuiiyg W & 9
EF;I 2 2 Status : Answered

Chosen Option : 4

5E, 7F, 11H, 17K.?

In the following alphanumeric series, one term is missing as shown by the question mark
(?). Select the missing term from the given options.

SE, 7F, 11H, 17K.?

Ans < 1. 25P
X 2 20N
X 2200
v 4 250

Q9 = fory @ A A S ot weg @ et 7@ g Question ID : 9864493961

Status : Marked For Review
Chosen Option : 3

BDRB

A B C D
Select the figure that does NOT belong in the following group.

B XBB

A B C D
Ans x1_A
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Q.10 gfae s e 3T FTd Tt T M T @ o T E
o gelr o o waer 19 d# @ w FRE ¥ W gwer & Sl
forarer frg o uT amnfyE g@efre

Amish Tripathi, a famous Indian writer, is working on a series based on Ramayana, in
which the first two books focus on Rama and Sita, respectively. On which character does

Question ID :
Status :

Chosen Option :

9864492381

Not Attempted and
Marked For Review

the third book of this series focus?

Ans T

r 0
Bharata

2

. Lakshmana
X3 o 2
Hanuman

W 4
Raavana

M Fae Fr R BT B == adr &2
A fungal cell wall is made of:
Ans IEicCC

Question ID :
Status :

Chosen Option :

9864493335

Not Attempted and
Marked For Review

rF R
lignin
 : g Hogelst (hemi-cellulose)
hemi-cellulose

V5 Frsfea (chitin)
chitin

?{'4.-‘%"@"‘Er

cellulose

Q.12 =if wer 8 3 HEAT 136p 5785, 15 W ot i &, 2 p 1 wuwa" 7 7

HifT)
If the 8 digit number 136p 5785 is divisible by 15, then find the least possible value of p?

Ans  of 1]
X 24
K32
K43

Question ID : 9864492503

Status
Chosen Option

:Answered
:3

Q.13 &y & & T AT e TF A TN FF i g TS| T oNE
¥ 5o T AT TR

1N

1 2 3

IZ1wiNN

=2

Use each of the following figures only once and form three groups. The three groups so
formed are:

N

1 2 3

IZ1wiNN

4 S [

V= A
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Status
Chosen Option

9864493825
: Answered
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Ans X1.(1,5,7), (2,4,8), (3,6,9)
v 2 (1,47), (2,5,8), (3,6,9)
< 3(1,47), (3,5,8), (2,6,9)
X 4(1,4,7), (2,6,8), (3,59)

Q.14 el 39 # 7o Fw(a), 9 @) AT FE) TFT W E A ABus:z @
T B:C:6:13 @ A A:B:C F AT F4T gE?

There are red (A), yellow (B) and green (C) tokensinabag. A:B::3:8.B:C::6:13.
A :B:Cis given by:

Ans  of 1.0:24:52
X 23:48:13
X 33:8:13
X43:6:13

Question ID : 9864492805
Status : Answered
Chosen Option :1

Q.15 =@ saewl & ¥ S a1 oo & fs[Ee a7 @S & #eg &4ar
s

Which of the following devices helps to maintain a potential difference across a
conductor?

Ans ﬂm
F !
Galvanometer

Ammeter
5 3 TeTHIEY
Voltmeter

v [er ar A
A cell or battery

K2

Question ID : 9864493505
Status : Marked For Review
Chosen Option : 3

Q.16 urr & R¥e I §T UF Aew @ 40 Rreiedet 1 gl a7 F # 8 uE
T § e 9RT % WY ged g 6 gl W 97 & # 38 @F 5 9
T 2l AE Sel & Arfae & aife @ geh?

To go a distance of 40 km upstream a rower takes 8 hours while it takes her only 5 hours
to row the same distance downstream. What was the rower’s speed in still water?

Ans x1_4.5ﬁﬁmﬂa¢9ﬁrdzr
4.5 km/h
x2_4ﬁa—oﬂ1ﬁa9ﬁrdzr
4 km/h
6.5 fraireer 9fy =er
6.5 km/h
1.5 ferader 9fy =ar

1.5 k'h

3

X 4

Question ID : 9864492810
Status : Answered
Chosen Option : 3

Q.17 Teatatea foram forwer ware forar o “acal 1 Jurerst 3e7eh AT FeaRTe
HTaTE O T E?

Who stated the following law: ‘The properties of the elements are the periodic function of
their atomic masses’?

Ans m"
F R
Dobereiner

X 2
Moseley

file:///C:/Users/CG/Downloads/Qp%20(4).html#

Question ID : 9864493374
Status : Answered
Chosen Option : 4
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Newlands
FECIC]
Mendeleev

o 4

Q.18 wurgy # FefEw ow g W wona g €, 30 g &1 aw =71 &2

‘What is the name of the point at which the chromatids are attached in a chromosome?

Question ID : 9864493438

Status : Marked For Review
Ans 1 aeh %I (Centrosome) Chosen Option : 2

<
Centrosome

V2 TAATT (Centromere)

Centromere

x5 a;rum::lﬁg (Nucleosome)

Nucleosome
ST (Gene)
Gene

K4

Q19 7y 102 97 T HT FEA T10 8. A T 5 & ey 97 @S ST w0y B2 e () SRR

If 192 pens cost is 10, how many pens can be bought for T 57 Status : Answered
Ans v’ 1. 96 Chosen Option : 1
X272
X 3. 48
X 4.56
Q.20 i
aﬁ' T 39k dcar & AT A F441 %’- Question ID : 9864493187

Status : Answered
Chosen Option : 3

Two or more elements combine to form a:

Ans I AT
<1 ”

atom

Question ID : 9864493797
Status : Answered
Chosen Option : 4

file:///C:/Users/CG/Downloads/Qp%20(4).html# 6/23
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TR HiHeT X e 7 2017 F oF A A AT A o aea
ST T THEAT (AR H) g2 §
A AE F 9ger e A AN gEl e § aga & S ite
F T EI
TE T T 2017 FF AT ST F ol F fFaw wfew Sy g
50
45
40 4
35 7
30 |2 i
25 22
20 ] ]
15
10
5
o
jan feb mar apr may jun
jan- SISl feb- HIEY  mar-ATTapr - #¥E  may- A jun- S
The data given shows the registration of bikes and total vehicles (in thousands) for six
months in 2017 in city X.
Note: In the chart, the first number represents bikes and the second number represents
total vehicles.
The increase in registration of bikes from May to June 2017 is:
50
45
40
35
30 |2 i
25 22
20 . .
15
10
5
0
jan feb mar apr may jun
Ans X 1. 80%
< 2.70%

< 3. 69%
v 4 64.7%
.22
@ g a + ai —3gdra3+ % =7 Question ID : 9864492876
Status : Answered
Ifa + i — S,then a3 + a_la =7 Chosen Option : 2
Ans x 1.12

v 218
x<39
X 46

Q.23 r=fafEa # & e 3997 99 oo & ReuRza & & e B s .
" = Question ID : 9864493609

Status : Answered

Which of the following is used for disinfecting drinking water?
. Chosen Option : 2

Ans ST IIEET

Self=reT 9T3sT
| Bleaching powder
| rae ST
Washing soda

2

x

file:///C:/Users/CG/Downloads/Qp%20(4).html# 7/23
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afder o=r
X 4
Baking soda

Q.24 P T — ;
T P 39 & @y o F:Y Question ID : 9864494077

Status : Marked For Review
Chosen Option : 1

T ¢ H gHIT T grar g g

Complete the following sentence with the most suitable option.

A shirt always has

Ans =

X1 el
a collar
cr

‘a pocket
CRC

" a button

(4.“

fabric

X2

K3

Q.25 EQ T aEl Hi@ ﬁ a’-;l; T T 3¢ ii i v EI ? Ql ion ID : 9864493843
esliol :
ﬁ oI !ﬂﬂ QHF‘ §

Status : Answered
Chosen Option :1

Kabaddi

P Q R

= T u

Faothall v

Cricket

Football - Eater Kabaddi - %88 Cricket - fohahe

In the following Venn diagram the total number of students who play all the three games
is:

Kabaddi

3 Q R

= T u

Foatball Y

Cricket

Ans « 1.9
X 2 S+V
X 3.5+Q
K4 S+QrV

Q26 Ffg 23 x 31 =713 @ 0. 0713 + 3.1 Trgar grem?

Question ID : 9864493001

23 x 31 =713. How much is 0.0713 = 3.1? Status : Answered
Ans x 1. 0 23 Chosen Option : 4
~< 2.0.0023
K323
v 40.023

Q.27
Question ID : 9864494379

Status : Marked For Review
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0 FUA TG AR dF 1 b e wud 7 @ sla & anen siafAfea

Chosen Option : 4

g1

FU:
30 9 & doic A, AET ST & (60 FS §s Hded g1 fohar |

RO
1. A AT & U e T 3mEedehar 2 E
2. F3 377 0F & § s fov sifae facdy aae ¢ it 3ravaeRan B

Consider the statemert to be true and decide which of the following assumptions is/are
implicit.

Statement:
This year in the budget section, there was no fund allotment for travel mnsurance.

Assumptions:
1. Travel msurance requires funds.
2. There are many other areas that need more financial attentions.

¢1_W1ﬁ12aﬁﬁaﬁ%ﬁﬁl

Both assumptions 1 and 2 are implicit.

2_%13{%1@111 a=fed gl

Only assumption 1 1s implicit.

3_%@aﬂm2§raaﬁ1%?r%|

x
Only assumption 2 15 implictt.

x4m?ﬁﬂﬁﬂﬂ1m2:ﬂ'ﬁﬁ%ﬁ%l

Either assumption 1 or 2 1s implicit.

x

Q.28 &% W eumgE® fmn FY 3t T = & swd A= & i Flaw e

fafea & &

a*.

Question ID : 9864493868

Status :

Marked For Review

Chosen Option : 3

Ify 3T aET Fa £, a8 AT O A9 T v dHEE A 2

AT
1. g#t wF e Aoe B S B
2. N7 UF ET Fa 2

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
If you’re a classical dancer we have an exciting job for you.

Assumptions:
1. We need a classical dancer.
2. You are a classical dancer.

m_nﬂrzaﬁﬁr‘%r-r%

Both 1 and 2 are implicit
) Faer g 1 fafga &
| Only assumption 1lis implicit
. Faer FgA= 2 At &
| Only assumption 2 is implicit

4_;?&13@‘2%%?%‘

Neither 1 nor 2 is implicit

v

x

x

Q.29 el #H 3T TEEH F T 9§ 2017 # g 9% @ 908t @ §FART

Ans

fmar wrar?
Which chef was awarded the Padma Shri in 2017 for his culinary contributions?

Question ID :
Status :

Chosen Option :

9864492374

Not Attempted and
Marked For Review

file:///C:/Users/CG/Downloads/Qp%20(4).html#
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AT SR
1.
Madhur Jaffrey

X2 (U SR
Ranveer Brar

3 ' ~
Sanjeev Kapoor

X 4 e g
Vikas Khanna

x

v

QW RE T AR TR R IR T dF A s m FRr = d g

Fe T T =T B
p. g3 F AT FTH

HYA:

1. (p+qP=16
2. p—q=4:r=2p

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What are the values of p, q and r?

Statements:

1. (p+g)P =16
2. p—q=4r=2p

r R0
TETeT & Sa1T 28 & (90 o af & 1 7 &7 2 garea gl

Neither 1 nor 2 is sufficient to answer the question.
2
TaTel & o919 aoF & [T &y 1 32 =1 & garea §
Both 1 and 2 are sufficient to answer the question.
< 3
TaTe 1 G o % [T AT FUa 1§ 93w gl

Only 1 is sufficient to answer the question.

X 4
HATeT & FAIE &4 & foIT AT HU=2 & T3 gl

Only 2 is sufficient to answer the question.

Question ID :
Status :
Chosen Option :

2

9864494328
Answered

Q.31

AT A7 F ot e Teeliee # # #i9 § & F e a5 §2
India-born Leo Varadkar became the Prime Minister of which of the following countries?

x 1 SNeTeRT
Sri Lanka
X2 Fhicols
Scotland
X 3. cfeToT 3T
South Africa
HIATelE
Treland

W 4

Question ID :
Status :

Chosen Option :

9864492165

Not Attempted and
Marked For Review

o

file:///C:/Users/CG/Downloads/Qp%20(4).html#
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6 ol & v FAg & et 9w # smer Pl g 7 gl i@t v s
wiemit g #F wfHe gl AT oW F rdw F f SES W g A7 e
e 3 & 78 ST 1 AT T F 9a g $ e & HeT e W
=mer $

There was a group of six students who took a test. Another student joined the group after
taking the test later. With her marks included the average score of the group went up by 3.
This student has got marks more than the average marks without her being
included.

v 121
X 220
X318
X424

Question ID : 9864492698
Status : Marked For Review
Chosen Option : 3

Q.33 w=fie o e A AT & 2 45 : 46 T YF Fr AN T AT W U F 4

55 : 57 &l UgHT| HiAd A W % 58 e 40 WHhE ag Imr g AN
e W 36 50 AT 29 WS de 9gd I AT A HUA 1 G A
# fohc= wAg oeTET?

Praneet started his journey at 2:45:46 p.m. and reached the destination at 4:55:57 p.m.
Anit started the journey 58 mins 40 secs after Praneet and reached his destination 50 mins
29 secs after him. How long did Anit take to complete his journey?

o, 2 T 2 W
2 hours 2 seconds

x, 2 HC 2 fAse
2 hours 2 minutes

, 1 =1 59 e

x
1 hour 59 minutes
v 2 8¢ 1 e 12 Js

2 hours 1 minute 12 seconds

Question ID : 9864492994

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.34 faar v fapedt & & HafOT Aeg &1 =AA HL

T3/ Yo ‘HeAWUT AT Wl & TEiOT ¥, 33 YR SgeldeAr ¥

Select the related word from the given alternatives.

‘Explore” is related to ‘Discover’ in the same way as ‘Walk’ is related to

K1.m

Accelerate

p SRR
Search

, Odr &3l
Find
HHAUT

o 4
Ramble

X

Question ID : 9864493935
Status : Answered
Chosen Option : 4

Q.35 Frvz 77 g & AT, 7 At AR sioeatae wafe & &= & e e

Ans

FH T Thee AT TR

To hear a distinct echo the time interval between the original sound and the reflected
sound must be at least:

x 1 02 &%

0.2 second
52 1 s

1 second

file:///C:/Users/CG/Downloads/Qp%20(4).html#

Question ID : 9864493324
Status : Answered
Chosen Option : 3
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v 01 3F3
0.1 second
2 Uhs

2 seconds

X 4

Q.36 2= fom 7w =) faweul & ¥ HaW 39gE fiwey ¥ R Heatafas o= & @@ w

T e F e ¥

Question ID : 9864494128
Status : Marked For Review
Chosen Option : 3

Complete the following sentence with the most appropriate option.

An office always has a/an

Ans o
1.
X Roof

X 2 T

Kitchen

. AT
Authority

Rl
4.
X Car

W 3

Q37 45 —-[38—{60+-3—-(6—9=+3) =3} =7
45 —[38 — {60~ 3 — (6 — 9+ 3) = 3}]
Ans x1_24

Question ID : 9864492559
Status : Answered
Chosen Option : 3

X 225
W3 26
X421

Q.38 37 Y¥IaT R STEhediol [AATEl #T A1 gai8T A Ao aheale
TR (UEIT) # 2nfie g aler Tgel s £

Name the professional Indian basketball player who became the first ever player to be
drafted from India into the National Basketball Association (NBA).

Ane v T &g s
Satnam Singh Bhamara
X2 UfeholaT 9T
Akilan Par1
X3 X e
Yadwinder Singh
, R 8
Ajmer Singh

x

Question ID : 9864492350

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.39

file:///C:/Users/CG/Downloads/Qp%20(4).html#

Question ID : 9864494258
Status : Answered
Chosen Option : 4
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37 ReeT 1 9 o TRE B & ¥ v ety TEw &

Ans x1_4
xX22
X33
v

Q.40 7T 2018 & 3WH & TN & T H et forgea forar amm @2

Who has been appointed as the Governor of Assam as of March 20187

Ans HIHATIT FTHT
X1z

Subramaniam Swamy
2, T ST
Ganga Prasad
5 SeAarterrer T
Banwarilal Purchit

STETETeT HET
v & 2
Jagdish Mukhi

x

x

Question ID : 9864492427

Status : Not Attempted and
Marked For Review

Chosen Option : --

O F A T STHAT FT FAT FET AT 82
The capacity to do work is called:

Ans x . aﬁ'
pressure

CEl

force

orferaT

power

«4lﬁ|‘r

energy

X2

K3

Question ID : 9864493321
Status : Answered
Chosen Option : 3

Q.42

Question ID : 9864493895
Status : Answered
Chosen Option :1

file:///C:/Users/CG/Downloads/Qp%20(4).html#
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3 UUT @l AB AT T 4@l ol g, df fee sieplcl & 3 gdvr ofd ga)

Problem Figure

2.

Answer Figures
A B c

Problem Figure - 9z fa

B

'

Answer Figures - 3ca{ 3faat
Choose the correct mirror image of the following figure if the mirror 1s held at AB line.

Problem Figure

2.

Answer Figures

- .g[g.
-
X 2B
X3 A
X4C

Q.43 AT HH A vy SIe Te ¢ i 2500 T TCHT T 1 9T S O ol @ gRi

B

B

Question ID : 9864492536
The smallest number that must be subtracted from 2800 so that the obtained number is a perfect square is: Status : Answered

Ans 1. Q Chosen Option : 3
V2 69
< 3 96
X 4 73

Q.44 57 v F1E #, Ify DOG Fr 4157 for@r =mar &, ar MAT =1 &% frer

STET?
In a certain code, if DOG is written as 4157, then what will MAT be written as?

Question ID : 9864493958
Status : Answered
Chosen Option :1

Ans o 1.13120
X 214120
X< 313012
X< 412120

Q.45 1 x 107% #Arer 9fy wieT $r gedisa 3 $ guaar 9 v e & pH )
= 2T | Question ID : 9864493310

The pH of a solution, whose hydrogen ion concentration is 1 X 10~ >mole per litre, will be Status : Answered

Ans x1_7
vos
X34
X446

file:///C:/Users/CG/Downloads/Qp%20(4).html# 14/23
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Q.46 o somias Hihsw e 2017 i & Faew g@/ i @ &2
The Fugitive Economic Offenders Bill 2017 was passed by which ministry?

Question ID : 9864492288
Status : Marked For Review
Chosen Option :1

Ans faeg J3re

X2
Commerce Ministry

| o AT
Labour Ministry

TS JAIAT
Xa B
Law Ministry

Q.47 3 FEmst 1 AUEET 40 ¥ A F UF WEA 2.50 ¥ gD wEar Reaer 37
The product of two numbers is 40. One of them is 2.50. What is the other number?

Ans x1_14

Question ID : 9864492941
Status : Answered
Chosen Option : 3

<215
v 316
<412

O st # ggaa afea (power) T 5HS &-
The unit of power used in industry is:

Question ID : 9864493342
Status : Marked For Review
Chosen Option : 3

Ans =
F
Joule

< 2 TcH
Watts
v’agﬁ "

Horse power

Q.49 e gae X ik Y Bl % # ve gEt & W o g wee w1 8 T
gl 7 v gEt @ Fe € 3@ #Ea Y o omn X & aifeelr siw aee 31 X
g fem & T @w=r W7
In the morning, X and Y walk towards each other in a park. When they meet, Y’s shadow

Question ID : 9864494112
Status : Answered
Chosen Option : 4

falls towards the right side of X. In which direction was X facing?

file:///C:/Users/CG/Downloads/Qp%20(4).html#

Question ID : 9864493286
Status : Marked For Review
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T3 Foll feheTerl AT &I & -

Chosen Option : 2

Mechanical energy is the sum of:

e R e+ A s

kinetic energy + heat energy

. T 5t + Fefaer 3o

kinetic energy + potential energy

x3.%1ﬁaﬁﬁ+m3?rﬁ

potential energy + heat energy
5 THATAE Far + [dega F=r

chemical energy + electrical energy

Q.51 o Yo fiew Teufey & amer g, oo RreieT ofy gar i afy s e &
ST FIAT § | T B OFAS A GO FH FAA & SN oS @
&1 S e gl qant
A train, starting from rest, attains a velocity of 90 km/h in 5 minutes. Assuming that the

Question ID : 9864493240
Status : Answered
Chosen Option : 3

acceleration is uniform, the distance travelled by the train during this time is:

Ans X1 1.5 fareiideT

1.5 km

2.25 fSrardeT

2.25km

75 3.75 faereeT
3.75 km

, 3.25 fameiteteT

3.25 km

X2

x

4 eafey fobE AR | TN G FhT &
Sound CANNOT travel through:

Question ID : 9864493243
Status : Answered
Chosen Option : 2

Ans

O3 FEe (H -12) F T AT A fras A g 2

How many atoms will one mole of Carbon (C-12) contain?

Question ID : 9864493388
Status : Answered
Chosen Option :1

Ans  of 1.6.02 x 1023
# 2.8.06 x 1020
< 3.6.02 x 1028
< 4.60.20 x 10%¢

I
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Q.54 ART 2017 #F TR AET ERIE w7 IU=ATg g ST AifE fEemEr
fro=r T =m
‘Who wrote the Indian historical fiction novel ‘The Rise of Sivagami’ published in March

Question ID
Status
Chosen Option

19864492233
:Not Answered

20172
Ane -1 FEfT T
Arundhati Roy
<2 FifFer Famer
Amish Tripathi
x5 ¢dGcd USATIh
Devdutt Pattanaik
, 37Teic Aot
Anand Neelakantan

v

O35 LRy FEaT F 32%, 80 ¥ HEAT fhadr &7
32% of a number is 80. What is the number?
< 1. 260

Ans

Question ID
Status
Chosen Option

19864492947
:Answered
14

# 250
/< 340
V4 250

Q.56 =fe fanddt a1 & fretiy & 2 TR Jor B 9 df 36 3RIae 448 @ e
g oaT ¢l o =0 Pufd F a9 & o e 1 aeens = gei?

If the edge of a cube is increased by 2 cm, the volume will increase by 488 cm®. What
then will be the length of each edge of the cube?

Ans

Question ID
Status
Chosen Option

19864492714
:Answered
12

6 TETHTT
-Ecm

8 TR
lﬁcm

0 HERIER
.Qa:m

7 HEEER

7cm

O Srafafag & ¥ #iF v oy T B
Among the following which is a rational number?
Ans x 1. fv"i

Question ID
Status
Chosen Option

19864492744
:Answered
:3

X 2312
VAR
X4.§{1

Q.58

Question ID
Status
Chosen Option

19864493926
:Answered
:3

file:///C:/Users/CG/Downloads/Qp%20(4).html#

17/23



9/14/2018 Qp (4).htmi#

30 HIHA F T8 HY A g g ¥ FEtea a8 2

X Ol® X|X X|x @
® X|X Ol® 0|0 X
A B C D

Select the figure that does NOT belong in the following group.

X O|® XX XX @
® X|X Ol® 0|0 X
A B C D

Ans X 1B
X2D
v3C
X e A

Q5 gfE tana = V2- 1 & & tana - cota = ?

Iftana = /2 - 1, then the value of tana - cota =?
Ans (1. -2

Question ID : 9864492917
Status : Answered
Chosen Option :1

K242 +1
X 31
K422

Q.60 Frem F et ol # ¥ uIg-RAW # Iv=ad weie & w9 & frwer s
fosar =T 27
‘Which of the following allotropes of Carbon is used as a reducing agent in metallurgy?

Question ID : 9864493431
Status : Answered
Chosen Option : 1

Ans x 1 FTET Soleh
Carbon Black
IHTES
Graphite
ElECar]
Charcoal
EacT

Coke

X 2

X 3.

W 4

Q.61 =& BACKFIELDS elec & 378RT &I 373l quTdATem & s § saaieaa fRam
ST & 38R F % Glfgell 3 GERT MW HieT |7 gEm?

If the letters in the word BACKFIELDS are arranged as in the English alphabetical order,
then which letter will be to the second right of the letter ‘F’, after the rearrangement?

Question ID : 9864493696
Status : Answered
Chosen Option : 1

Ans «1K
X2E
X.C
X4l

Q62 35T BT & AGT Tl T@EH FI FT gl AT g
The female reproductive part of a flower is called:

Ans hd $

Question ID : 9864493277
Status : Answered
Chosen Option : 3

XKoo=
Petals
CIREFED

2.
Sepals
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Y S

Carpel
X 4 THET (Stamens)
Stamens

Q83 o % R 1w Fefua A3 & AR W RIRedd =7 g4 Question ID : 9864494179

Status : Not Attempted and
: @ : o Marked For Review

Select the missing figure based on the given related pair of figures. Gl ORI =

Q.64 grET Fr ATt TERATAT Hr T FHE 9w F o 2
In which language was ‘Baburnama’, the Memoirs of Babur, composed?

Question ID : 9864492083
Status : Marked For Review
Ans tﬁl—'n' Chosen Option : 4

F

Pashto

K 2 fﬁ,’%l’

Kurdish

X&Bﬁ

Urdu

v
Turkish

Q.65 ‘
v a7 a1 Fw H#Ow 39gFT FFeT & @y [ H Question ID : 9864493968

Status : Answered
Chosen Option : 2

TF ST & I A grem/ greft

Complete the following sentence with the most appropriate option.

A king will always have a

Ans h
x 1 E=E)
Minister
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Q.66 vanfew, graw # T e aRiches AT 2017 F BFow w@or
TEF AT o4T?

Who won a gold medal in the World Weightlifting Championship at Anaheim, USA, in
20172

Ans

Question ID : 9864492219

Status : Not Attempted and
Marked For Review

Chosen Option : --

Fea T
Vandna Gupta
X2 FUTH Fooradl

Karnam Malleswari
| Kunjarani Devi
v R

Mirabai Chanu

r 0

x

Q.67 forelt @t ST Y TH WET 4 B H #T T § TR g MHT 7Y 77
F1 10 92 & WEr 1 31 & =@ T Al @Wier o &t at & aredt W U
ot @ R T fhae oET & s| Smen? Status : Answered

One pipe can fill an empty cistern in 4 hours while another can drain the cistern when full Chosen Option : 1
in 10 hours. Both the pipes were turned on when the cistern was half-empty. How long
will it take for the cistern to be full?

Ans (1_3 Te 20 =

Question ID : 9864492691

3 hours 20 minutes
, 6 u 40 fee

6 hours 40 minutes
, 4 92 20 fee

4 hours 20 minutes

4_55%30'@33

5 hours 30 minutes

x

x

x

Q.68 Heardy 5 FgeT ST 3R AT &, AL 3 T & 3iaeT WS H Sy a5 FramyEr
f A ST, el 13 Question ID : 9864492513

AT soag g
‘What is the age of the eldest sister if, the sum of ages of 5 sisters born at the intervals of 3 L LR
vears each is 50 years? Chosen Option : 4

Ans
x 1 14 EL)
14 years

439
4 years

18 I
18 years

16 99

16 years

X2

X3

W 4

file:///C:/Users/CG/Downloads/Qp%20(4).html# 20/23



9/14/2018 Qp (4).htmi#

.69 )
Q69 goaT It & T 9 TS dToll HET 3PS H Tol| Question ID : 9864493762

Status : Answered

Chosen Option : 4

JAVVINEN
A+
LI 2

AHXIX

A B C D
Select the correct figure that replaces the question mark.

o

N N
XIEHIE
.¢_|_

w>»Ow|+

>
X{(:»

X

v:D

Q.70 fau 71T Fordedl S BT AT H{ = AT T g7 H F a9 @ (@) Gy
Tl FT THETNT T T AT (FT F) F F

Question ID : 9864494268
Status : Not Answered
Chosen Option : --

e
Acg &1 Fis WfEaa waa a@

forsad:
1. AT F v fe e @ 8

2. Atg f&dr off g5 37 "t B

Read the given statement and identify which of the given conclusion(s) logically follow(s)
from the statement.

Statement:

Death keeps no calendar.

Conclusions:

1. Man must die one day.
2. Death can come at any time.

Ans x1‘13ﬂ?2aﬂ’f3ﬁmﬂTﬂﬁmﬁ§|

Neither conclusion 1 nor 2 follows.

Faer sy 1 3TTEIOT HIT g
2,

Only conclusion 1 follows.
1 3R 2 2 srEgEReT FR

Both conclusions 1 and 2 follow.

x

v

file:///C:/Users/CG/Downloads/Qp%20(4).html# 21/23



9/14/2018 Qp (4).htmi#

| e R 2 3T e g

Only conclusion 2 follows.

x

Q.71 afz SerEat F s 1 ugen 3R Sow gew vy A @t d, Srsa e
SEU WEET FI A

If the first and third members of a Dobereiner triad are Phosphorus and Antimony, the
second member of this triad is:

< o
Calcium
HIEA
Iodine
Eliesie o
Arsenic
HBT
Sulphur

Ans

X 2

v &)

X4

Question ID : 9864493093
Status : Answered
Chosen Option :1

Q72 & IR AEe & e 9g el

PG, QH, RI ?

Select the term missing from the given series.

PG, QH, RI, ?
Ans ?(1-LT
X 28T
K 3 IK
481

Question ID : 9864494321
Status : Answered
Chosen Option : 4

Q.73 v fegeT ABC #, THFIUIB W ¢, BC=15 HEeT 3T AB=s ¥&eT §1 ik Bagar
ABC FT IRged Sa17 71T &, & 3o it e w3 Fifsre

In a triangle ABC, right angled at B, BC=15cm, and AB=8cm. A circle is inscribed in
triangle ABC. Then the radius of the circle is:

Ans {1_3;@1\1&

3cm

2 TEHET

X2
2cm

x3_4ﬁa1=ﬁa
4cm
X4_1'ﬁﬂiﬁz¢

lcm

Question ID : 9864492558
Status : Answered
Chosen Option : 1

UV s H T HiT O v E=BRow HHaR dqd 872
Which of the following is not a voluntary action?
Ans
Th IE] AT
x ?
Taking an object

file:///C:/Users/CG/Downloads/Qp%20(4).html#

Question ID : 9864493616
Status : Not Answered
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oo Fr gz
2
Beating of heart
TF FHl B oA
3.
Moving a chair

o HqIT H &G B
Closing of fist

O goT & FHHT &, F FEF e &
In Force equation, F is equal to:

Question ID : 9864493259
Status : Answered
Chosen Option :1

Ans \’ 1. ma
K 2.mv
& 3 u+at
X 4. mgh
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